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Code No: S522446B Sub. Code: SMEC41
B.A.(CBCS) DEGREE SPECIAL SUPPLEMENTARY EXAMINATION, APRIL2020
FOURTH SEMESTER
ECONGQMICS - Main
MATHEMATICAL METHODS - II
(For those who joined in July 2017 onwards)
Time : Three hours Maximum: 75 marks
Part ~ A (10 X 1 = 10 marks)
Answer all questions, choose the correct answer

yv=1log x . then 2 =
1. If y=log x, then -

a) x b)i o)1 d)0

(R

. Elasticity of demand is equal to
a) AQVAP.P/Q b) AP/AQ.Q/P c) AQ/P.P/AQ d) Q/AP.AP/(QQ

. The second order condition to attain minima is
a) d*yidx® = 1 by d* y/dx* =0 ¢) d*y/dx* >0 dy d* y/dx” < 0

1ud

4. If the total utility function U= 2x’y. then marginal utility of y =

a) 6x° b) 2x* ¢)6x7y d) 2y
5. Fdx =

x

a) x+e b) logx + ¢ C)xTF2+¢ dyo

6. Producer’s surplus is the difference between

a) Demand price and Supply price b) Marginal Revenue and cost
¢) Total Revenue and cost d) None of these

7. If the number of rows of a matrix is not equal to the number of columns of a matrix.
then the matrix is

a) Row matrix b) Column matrix ¢) Rectangular matrix d) Square matrix
8.If A=|a,b,c]and B = [a,b,c,d] then A "B
a) ANMR=A by A i3 =0 A B AD d) Nonc

9. The Input-Output analysis was tirst propounded by
a) Karl Pearson b) Spearman ¢) Fisher d) Leontief
10. Linear programming was developed by

a) B.Dantzing by Karl Marx ¢} Karl Pearson d) Cooper

Part-B {(5x5=25)
Answer ALL questions. Choosing either (a) or (b)

11. a) Find the second order derivative of the function v=7x" -3x% +7x +15
b) Explain any five rules of derivatives.

12. a) Enumerate the applications of partial derivales in Economics.
b) Given the demand function P= 40-2x. Find the output and pricc.

13. a) Evaluate [(57{3— 3% +5x + 10) dx

b) Given the total cost TC= 5Q° + 3Q7 +5Q - 10. Find Marginal cost (MC) at Q=2.
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14. a) If A= (; g) B= (i 33) to show that A-B # B-A

1 4 3
b)IfA=(4 2 1

3 2 2

15.a2) How can you compute technical coefficient?

) verify whether A is singular matrix or non-singular matrix,

b) List out the uses of Input-output analvsis.

Part - C

(5x8=40)
Answer ALL the questions, choosing either (a) or (b)

16. a) List out the applications of derivates in Economjcs.
b) Find maxima or minima of the function Z = 4x° +2y* —16x —1.2y:.
17.0) f U =xy + yz + zx. then find &u/éx. Au/dy and du/ez.

b) Evaiuate Euler’s theorem.

18. a) If the supply function is P= 2x +6 x°, find the producer’s surplus at x=2.

b} Evaluate [ 4x? (x* + 5% dx.

19. a)Solve the following equations by using Cramer's rule,
2x+ 3y +4z=29
Ix 294 53 =30
dx+3y+2z=725

1 2 3
'b) Find inverse of the matrix A = (—5 -7 —4)
2 1 3

20. a) Define input and output analysis and explain its limitations..

b) In an economy of two industries A and B, the information in million rupees is given
below.

Selling sector

Buyving sector

A B
industry A m Final Demand
18 |08 "T770 T 36 ]

48

Andustry A
industry B

Determine total output to be produced by the two industries to meet the new demand for
30 units of industry A and 40 units of industry B.
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